CPSC 314 Worksheet 1 Jan 12, 2018

1. Coordinate Frames
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(a) (3 points) Express point P in each of the three coordinate frames.
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(b) (3 points) Express pdiat’ V' in each of the three coordinate frames.
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(¢) (2 points) Find the 3 x 3 homogeneous transformation matrix which takes a point
from F4 and expresses it in terms of Fyy. Le., determine M, where Py = M Py,.
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2 points) Find the 3 x 3 homogeneous transformation matrix which takes a point
from Fp and expresses it in terms of F4. lL.e., determine M, where P4 = M Pg.
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